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Paper / Subject Code- 77501 / Object Oriented.

0L-0t g Q. P. Code: 08241

(Time: 2 % hours)
[Marks: 75]
Please check whether you have got the right question paper.

N.B.: (1) ANl questions are compulsory. o
(2) Makesuitable assumptions wherever necessary and state the dssumptions made.
(3) Answers to the Same gquestion must be written t ether. e ST A
(4) Numbers to the right indicate marks. ! =Eis - &
(5) Draw neat iabeled diagrams wherever necessary.
(6) Use of Non-programmable calculator is allowed. o
1. Attempt any three of the following: FEae
a. Whatis procedure oriented Programmmg? What are its
b.  Differentiate between Object Oriented and Procedure
paradigms, B e
€. Discuss the need and advantages of Object Ofiéﬁtéd’ﬁfogrémmggg.f
d.  Discuss various applications of Oﬁj_e,ct_;oriénit;edv Pi'eg"ram_mfr;
€. What do you mean by Dynamic an:d..Stf_aAt;{c:bindp.ng, et
f. Write a short notes on {E)Opjéct,f(ﬁ) lass ok
2. Attempt any three of the following: : 15
a. Whatis a class? Hustrate the use o 1 a simple c+ rogram.
b. What are inline functions? How an cutside fumcis nade inline?
d.
e.
f.
3. Attemptany three of the following: 15
a4 What}sfunct?oneverfoad; Explain with Suitable example.
b Whatis éﬁéfé’tﬁf’fo@rloa’diﬂg? List the operators which can be overloaded and
- whichcannotbe overloaded.
RT Write a c++ program to ov. rloac unary minus operator.
d Whéf"arevi\?i,rfUa!, functions? Exﬁ!,ain.
- ©  Define the following 2
§ e - (i)ffAbst'fa"c't*Cfass (it} :',,"P;Jré Virtual Function
f.
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Paper / Subject Code: 77501 / Object Oriented.

Q. P. Code: 08241

Attempt any three of the following: s 4 TR ]
What do you understand from the concept of inheritance? Explain its various types.. ° ;‘
Explain the use of various visibility modes used in inheritance. ’ s
Discuss the role of constructors in derived classesin detail. ; 4

Whatis an exception? What are advantages of e‘xceﬁt?éniha‘nd!ingJmechanism ina: > .70
program? B T gt
Explain the concept of throw and catch with suitable exar ple. .
Write a c++ program to illustrate multilevel inheritanc A

Attempt any three of the following: il i bt :
What are class templates? Explain their use. How ;c'!as"s;ténip
Explain function template with 3 programming example. '7 e S
Write a c++ program to implement bubbie sort using funrctiqr{témbfé;é{ it
Explain the working of files in c+= i o I RS
Explain various methods to detect end of file in 2 c++ progra
Explain the following 5 S LS ERS
() seekgl)  @Esmcil) "0 NS EE

late can be declared?




Kl %em L

Paper / Subject Code: 77502 / Microprocessor Architecture.
’ 58 , :
O5-0L-17. Q. P. Code : 33407
(22 Hours) [Total Marks: 75]
41 : ‘
: N.B.: (1) All questions are compulsory.
(2) Make suitable assumptions wherever necessary and state the assumvtions made.
(3) Answers to the same question must be written together. ‘
15 (4) Numbers to the right indicate marks.

(5) Draw neat labeled diagrams whercver necessary.
(6) Use of Nou-programmable calculators is allowed.

1. Attempt any three of the following: 15
Explain different constituents of microprocessor system. Draw a neat diagram :
showing microprocessor based system with hus architecture
b. Explain the difference between 8085 machine language and 8085 assembly language.
With neat labled diagram explain how 8085 system bus is divided into three different
= sets of communication lines :
15 d [llustrate the memory address range of a memory chip with 256 bytes of memory.
Draw a neat diagram to show the memory map and explain_how this memory chipis
accessed by 8085 microprocessor,. 7l TS O e NN
= Explain how lower order data and address bus of 8085 microprocessorare -
demultiplexed. LS E S SRS NP
f With proper timing diagram:explain memory read cycle of 8085 micropr

€SSOT.

Attempt any three of the followin g: :

Explain how eight DIP‘switches are interfaced with 8085 microprocessor using a
decoder. S N O e

How is testing and troubleshooting of J/O interfacing circuit
Discuss in brief the programming model of 8085microprocessor.

What is meant by hand assembly? How is hand assembling 6f a program done?
Explain any one arithmetic aj}_d any»one‘,\logical‘ group one byte instruction from the
instruction set of 8085 microprocessor; ot :

0o

o oo o

f. Write an assembly language program to add'tw}o*g‘bif numbers stored at memory
locations D200 K and D300 H. Store the answer at memory location D400 H. (Hex
code for the program is not expected)

e
n

3. Attempt any three of the following:
a What are different available conditional loops in the assembly language programming

for 80857 - o
b. - Explain following logical instructions —

¢. ~ What'is time delay? Why is time delay needed in a program? What are different ways
of generating a time delay in an assembly language program for 8085 microprocessor.

d. . Writean assembly language program for 8085 microprocessor to count continuously
from FFH to 00H in a system with 0.05ps clock period. Set up a delay of 1

o vij@iIli‘s’gzcond‘ between two value.

&>~ Whatis staq_k? How is s_taék used both by microprocessor and user?

f.. Explain following instructions for 8085 microprocessor —

““ o 7R Restart < iz Conditional call and return.

[TURN OVER]
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- Explain the concept of windowed registerof SPARC imicropxo"cjé‘s‘sdi’";f .

Paper / Subject Code: 77502 / Microprocessor Architecture.

Q.P.Code:33407 = -

Attempt any three of the following: ‘ PR g S kil e
Write a 8085 assembly language to convert a 8-bit binary number to unpacked BCD. LAy e
What is meant by table look up technique? How is it used for BCD to Seven Segment
LED code conversion? e S

Explain the hardware features of a typical software development system.

What are advantages of an assembler?

Discuss various interrupts used by 8085 microprocessor and their priorities.

What is meant by veciored interrupt? Also expiain use of SIM ipst)ruc;tion.':

Attempt any three of the following: 15 S

What are special Pentium Registers? Discuss the architecture of Special Pentium
Registers. :
Discuss the memory map of Pentium 2 processor

Explain the CPUID instruction used by Pentium 4.

Explain the architecture of SPARC. s
List the components of SPARC processor. Discuss each in brief.” =

S9TFET726D9C2FC5256565FB697C8150A
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Paper / Subject Code: 77503 / Web Programming. 7

O3~ Cg- 19 Q. P. ACOd‘ve : 33411 |

(2% Hours) [Total Marks: 75) -

.. B.: (1) All questions are compulsory.

(2) Make suitable assumptions wherever necessary and state théwass‘uinr“)tib'ns’__niédg," £
(3) Answers to the same questior must be written tooether. ‘ e 3

(4) Numbers to the right indicate maiks.

(5) Draw neat labeled diagrams wherever necessary.

(6) Use of Non-programmable calculators is allowed. \
Attempt any three of the following: A S 15
What is WWW? Write difference between WWW and Internet. j S v of o ’

List and explain different types of CSS selectors with example. .

Write short note on Uniform Resource Locator.

Explain the following HTML tags with the help of example:

(i) <br> (i1)<pre> (iii) <h6>  (iv) <p> (v)<a>- -

What is proxy server? Discuss its application with reference to internet..”
Explain different types of lists available in HTML with the-help of example. -

Attempt any three of the followmg S Reps 15

How to format and position‘a division on a web page? Ex plain with exampie.

Write HTML code to design given web page using Table tags. -

L Sales Repor : ; 7 -

| ITEM CODE _ | UNITS/| RATE_[SALES |~ = ="

1 S A0 00 1 SES

L 9 5 ;“’7;50 ] 250 < y

' SO S[250 | ospg ]

} . Total Sales | 2950 |-

How w11 yo_t} create graphical navi'ga‘tion’ bar?zEprain with example.

Explain <audio>and <video> tags'in HTML 5.

Write HTML Code to design a web page with Image Maps.

List and explain any five HTML Form controls with example.

Attempt g;rzg}three of the foliowing: 15
- Write a short note on “for...in” looping statement in J avaScript.

Write a program in JavaSeript to accepta sentence from the user and display the number

of words in'it. (Do not use split () function).

Explain following events:-

(Honclick (i) onfocus: (iii) onmouseover  (iv) onload (v) onerror

Write a JavaScript program using various methods of Date Object.

Write a short note on comparison and logical operators in JavaScript.

List various features of JavaScript.

Attempt aniy three of the following: 15

- What is PHP? Write the advantages of using PHP for server-side web scripting.

Write a PHP code to find the greater of two numbers. Accept the numbers from the user.

[TURN OVER]

F97DC588E8A52B3F0029A05FSCASIBA2




20 SR - B

o

I S

Paper / Subject Code: 77503 / Web Programming.

Q. P. Code : 33411

Explain any five string functions available in PHP with example.

What are the different methods available in PHP for passing the information from one
page to another? Explain.

Write a short note on PHP data types.

Explain associative array in PHP with the help of example.

Attempt any three of the following: v » 15

Explain following PHP/MYSQL functions: v

(1) mysql_connect O) (i) mysql_close ()  (iii) mysql_query ()

(iv) mysql_select_db () (v) mysql_error ()

Write a PHP program to demonstrate the use of cookies iii PrIP

Compare POSTX and PERL style Regular expressions of PHP. :

List various HTTP functions available in PHP. Explain header () function in detail.

Write a PHP program to create a database named ‘employee”. Create a table named
“salary” with following fields (eid, ename, esalary). Insert 3 records of your chmce

Display the names of the employees whose salary is between 15000 to. 20000 in a

tabular format. £ - e

Write a short note on PHP Session. s

F97DCS88E8AS52B3F0029A05F9CASIBA?2
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Paper / Subject Code: 77504 / Numerical & Statistical Methods.

OC{"O(I ,,l(!{ -
Q-P; Codle: 33413 5+ ¢

(2%: Hours) :
[Total Marks: 75]

Adl questions are compulsory.

2) Make suitable assumptions wherever necessary and state the assumptions made.
3 _4@5".& ers 1o the same question must be written tosether.
4) Numbers 10 the right indicate marks

5) Draw neat labelled diasrams wherever necessarv.
6} Use of Non-prosrammable calculators is allowed.

Attempt any three of the fn]lo“mg 15
Statc the characteristics of typical mathematical models of physical world. Explain with
Discuss the conservation laws and engineering with respect to mathematical models.
Suppose that you have the task of measuring the lengths of a brldge ‘and a rivet.and come up
Wiih 5999 and 9 cm, respectively. If the true values are. 10 000 and 10 cm respecme]v
compute (1) the true error and (ii): the true percent relative error for each case.”
Use zero- through ﬂlll’d order Taylor serles expansmns to predlct f @3 for
SF (x) = 25x = bx? 4 7x = 88
using a base point at x = I ‘ :
Determine the absolute and relative errors when approxunatm P by p* when
p=0.3000 ]andp =0.3100 x 10 :
P =0:3000 Pand pr=0.3100 x 1073
=0:3000 andp*=0.3100 % 10" - z
1= 0.54601. Use four dlglt arlth etic to approximate p—qand
determine the absolute and relative: errors using (i) rOundmg and (ii) chopping.
15

&nempt anv three of the fo]lowmo v
Use  “the BISCCUOH method to fi ad - solutions accurate to within 1072 for

— 7x2 + d4x — 6 0 in the interval [3.2,4].
The fourth dearee polynomlal S = 230x* + 18x% + 9x2— 221x- 9  in
[0 1]correct upto 4 decnnal places usmg Regula Falsi method. 7

Find the root of 4x? — é <Rl usmg Newton Raphson correct upto 4 decimal places

using mmal value as 1.
Given the cube of 1ntegers in the followmg table. Find the values of (5.5)° and 75° using

Newton’s: mterpolaﬂon formula.
Find 1 Q9)-if £ (0. 6) = ~0.17694460, f (0.7) = 0.01375227, f (0.8) = 0.22363352,
F ( 1.0) =0:65809197 usmg Lagrange’s Interpolation formula.

l)l )

’Usmg appro’ iate mterpolatlon formula find f{4.25 ) from the table
N Rk 4.0 S F 41 42 | 43 ] 24 45
f(x) Fe2721 SF 3018 3335 | 3606 | 4073 54.01
[TURN OVER]
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£ A painter has e)f’act'ly'32 units.of yellow dve and 54 units of green dye. He plans to mix
< gallons as possible of color A and color B. Each gallon of color A requires 4 units o
. dyeand 1 unit of green dye. Each gallon oi color B requires 1 unit of yellow dye and 6 units of
< green dye. Find the maximum number of gallons he can mix graphically.
©’Rita wants to buy x oranges and y peaches from the store. She must buy at least 5 oranges and
the number of oranges must be less than twice the number of peaches. An orange weighs150

Paper / Subject Code: 77504 / Numerical & Statistical Methods.

Attempt any three of the following: NS L
Solve the following system by using the Gauss-Jordan elimination method. TS
a+b+2c=1
20~ b4+d=-2
a—b—c—-2d =4
2a—b+2c-d=0
Solve the following system by using the Gauss-Seidel iterative method.
10a—-—b+2c=6

—a+11b—-c+3d =25
2a—b+10c—d =-11
3b—=c+8d =15
5 dy .
Find (~ ,if
dx/ x=52
L x | 49 | 50 51 52 53 S SSAS S 55 ]
y | 134290 | 148413 | 162022 | 181272 | 200337 | 21408 | 244692 |
03 5 -
Evaluate fo V1 — 8x?dx usimg Simpson’s rule
Apply Taylor’s method of erder twe with ¥'= 10 to the initial-va ue-problem
Yy~ 4+ 10<r<2<3y0)=05
Using modified Euler’s method find the solution of
Yy = cos2¢ +sin3t B<e<1,9(0) = 1withkh= 0.25
Attempt any three of the following: 15
Fit an exponential model 1o:
| x |- 04 12 16 -1 20 23 |
y | 800 95 1506 956 2900 3600 |
Find the least square polynomizl appre 1 0i degree two to the data
X i U 1 2 3 4
L 3 i —4 i =1 = 11 " 20

Find the best-fit values of 4 and & so that ¥ =a+ bx fiis the data oiven
ARG Ik S I j 2 ! 3 | 4 f
| ]

RS R e e 185 33 [ a5 6.3

i

%

- -grams and a peach weighs 100 grams. Joanne can carry not more than 3.6 kg of fruits home. ¢ =

1) Write 3 inequalities to represent the information given above.

i) Plot the inequalities on the Cartesian grid and show the region that satisfies al] the
inequalities: Label the region S.

i) Oranges cost  0.70 each and peaches cost % 0.90 each. Find the maximum that Rita
can spend buying the fruits.

[TURN OVER]
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Paper / Subject Code: 77504 / Numerical & Statistical Methods.

Q.P. Code: 33413 -

Consider a calculator company which produces a scientific calculator and a graphing ca}culator ,
Long-term projections indicate an expected demand of at least 1000 scientific and 800 glaphmg E9N
]culators each month. Because of limitations on production capacity, no more than. 2000,‘
ientific and 1700 graphing calculators can be made monthly. To satisfy a supplying contract,
total of atleast 20 “JU calculators must be supplied each month. If each scientific calculator A
old results in Rs.120 proiit and each graphing calculator sold produces a Rs.150 profit, how

y of each tvpe of u:.iu.uI"ITOiS should be made monthly to maximize the net profit? ‘

)

O p

BV I U 7 I o)
)

Attempt gny three of the following: L 13
The mileage C in ‘.ijl..:::id\ of miles which car owners get with a certain kind of tyre is a
random variable having probability density function

1 x
f(x) :%e,_ﬁ > SforE >0

=0,  forx<o0
md the probabilities that one of these tyres will last
.i,: most 10000 miles
wvwhere from 16000 to 211000 mlles
_‘ ¢ least 30000 miles :

of )s'alfe“é' in thousands

what must be the capa(:lty of its tank in { order that the probablhty that s supply will be
exhausted in a given day sh; 01 =
A continuous random Vanable X has ap.d. 33 , :
f(x)-‘Sx ngSl.,

What is th ability-of getti a ;Qf9j (i ftwicé éndf(ii) at least twice in 6 tosses of a

Ina prec:slon bombmo attack thf;re isa 50% chance that any one bomb will strike the target.

Twa direct _hits are required to destroy the target completely. How many bombs must be
ropped to-give a 99% chance or better of completely destroying the target?

% €ar hlre firm has two cars which it ﬁres out day by day. The number of demands for a car

on each day i ‘*dlsmbuted as Poisson-variate with mean ].5. Calculate the proportion of days

Of W Tnch{' nelt}*er caf ;used and '(n) soine demand s refused.

FE409F2E3556320D906A 807022731821
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Paper / Subject Code: 77505 / Green Computing.
10-04- q

(2%2 Hours)

- (7} AN guestions are compulsory

= Mzke switable assumptions w here\ €r necessary and state the acsmnpnons made
IZ% Amswers to the same question must b2 written together.
%) Nambers 10 the right indicate marks. =
(5" Draw meat labeled diasrams wherever necessarv. iy
(5} Use of Non-programmable calculators is allowed.

Aitemmpt gmy three of the following: T s
Wit ave the sscps mvolved for Measuring of carbon footprint?
v hasdware deployments can affect the envnronment‘? :

Wint= 2 mote om Equipment Disposal.
Wikoe are the steps taken by JAPAN for managmg thelrro
W&mndﬁ: B&lActxon Network fun 'On 7 A

15

15

15
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